14759

pixels

15381

pixels

30988

pixels

123722

pixels

051023a 051023e
bin size = 10 ~ bin size = 10
*54.020838 / 2000 =] *54.020838 / 2000
M\ @
[}
X
o
o
CT-value (1/cm) 326.555966 CT-value (1/cm) 377.875762
051023b 051023f
o 3 o
bin size = 10 = bin size = 10
*54.020838 / 2000 g *54.020838 / 2000
0
[}
X
o
o
CT-value (1/cm) 223.916374 CT-value (1/cm) 425.143995
051023c 051023¢g
o
%"\ bin size = 10 g bin size = 10
*54.020838 / 2000 0 *54.020838 / 2000
v
[}
X
o
o
CT-value (1/cm) 317.102319 CT-value (1/cm) 456.746185
051023d
bin size = 10
*54.020838 / 2000
CT-value (1/cm) 395.702638



